State the domain and range of each relation.  Then state whether the relation is a function.

1. {(3, -2), (1, -4), (-1, -6), (-3, -8)}

2. {(-8, -2), (-2, -8), (-3, -8)}

3. Explain why a relation is not always a function.
Find the domain and range of each graph and then determine if it is a function.
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Graph each equation.

12.  y = 3x – 4





13.  2x –3y =9
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Write an equation in standard form for a line that passes through the points.

14.  (0, -6) and (9, -12)



15.  (-5, -3) and (-8, 12)

16. Write an equation of a line in standard form that is parallel to the line  y = 2x – 8 and passes through the point (-4, 8).

17. Write an equation of a line in standard form that is perpendicular to the line         y = -4x and passes through the point (2, 6).

18. Write an equation for a line in standard form that is parallel to the line  x = 8 and has an x-intercept of (-8,0).

Determine if the two lines are parallel, perpendicular, coinciding or none of these.

19.  y = 3x + 2




20.  4x + y = 0

       -3x + y –8 = 0



       y = -2x + 6

_________________



____________________


  21.   For the data given in the table find the following:

	YEAR
	Total Sales in billions of dollars

	1980
	$328

	1985
	$424

	1986
	$432

	1987
	$459

	1988
	$496

	1989
	$523

	1990
	$542

	1991
	$538

	1992
	$559

	1993
	$592

	2004
	?


Regression line equation

___________________________ 

Regression coefficient

___________________________

Prediction

 Year = 2004            Total Sales =  ___________
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